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WPart I. Choose the best choice and mark it on your answer sheet.
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[Our reaction will become completely mechanical,if our aim is to say what gets by in society.
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The bill was put on the table.
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Peter is a snail.
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Have you read my article on pollution?
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These pigs ate all the food.
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Robbers always case a place ahead of time.
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We got grounds for thinking that he had stolen the money.
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His illness was brought on by worry over his business loss.
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The ordinary people were ground down by lack of food and money.
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Desiring the exhilarations of changes:
The movie for metaphor, shrinking from
The weight of primary noon.
the A B C of being
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Hard pressed for a reply I found myself improvising a rationalization.
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[The title of this lecture is likely, I fear, to offend some critical ears.
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She had no sooner put it on her head than it looked as if it had come from the Army and Navy stores.
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With so much wavering behavior,the stars might be expected to be in frequent collision
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[To the man on the hilltop, the stars seem placid.
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Women have only 60 to 70 percent as much muscle as men for their body mass.
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He knows there is a competent conductor on the job.
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VPart 11. Translation

Translate the following texts into fluent Persian:

1. Under proper conditions, sound waves will be reflected from a hillside or other such obstruction.
Sound travels at the rate of about one-fifth of a mile per second. If the hill is eleven hundred feet

away, it takes two seconds for the sound to travel to the hill and back. Thus, by timing the interval

between a sound and its reflection (the echo), you can estimate the distance to an obstruction. (e < \)

2. You surely are not surprised to be told that you usually listen to music not only with your ears, but
with your whole body. Few people can listen to music that is more or less familiar without moving
their body or, more specifically, some part of their body. Often when one listens to a symphonic

concert on the radio, he is tempted to direct the orchestra even though he knows there is a competent

conductor on the job.(c x5 \)
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3. The progress of civilization itself can be measured by its range of mathematics. The early Egyptians
knew enough of geometry to build the

pyramids and the Greeks used trigonometry to measure the circumference of the earth two thousand

years before Columbus sailed. (s 3 \)

. She was inclined to be stout, but her height enabled her to carry with dignity a corpulence which a

strict attention to diet prevented from becoming uncomfortable. She had a broad brow, an open

fcountenance and a diffident smile. (s 5 V)

5. In all our literary experience there are two kinds of response. There is the direct experience of the
work itself, while we're reading a book or seeing a play, especially for the first time. This
experience is uncritical, or rather pre-critical, so its not infallible. If our experience is limited we

can be roused to enthusiasm or carried away by something that we can later see to have been

second-rate or even phoney. (s <5 \)
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